‘14 TEC

2014/ 4/ 13
1
NO

a1 1|1 1:06.468| 2:12.335| O 1:04. 786 2:10.857| 1 2:12.335
PN 1|4 MINKEY 1:02.927| 2:04.059| O 1:02. 739 2:02. 246 2:02. 246
PN 2|2 SETCKAZE 1: 03. 647 2:08.612 2:08. 612
PN 3|3 TEC 1:07.294| 2:12.869| O 1: 07. 509 2:11.729| O 2:11.729
RL 1|8 HNIEC 0:59. 624 1:59.206| O 0: 59. 742 1:56.339| 0 1:56. 339
RL 2|11 SPEG D 1:00.641| 1:59.289| O 1:00. 477 1:59.900 O 1:59. 289
RL 3|5 OAL 1:03.227) 2:05.799| O 1:01. 404 2:01.355| O 2:01. 355
RL 4|7 avsC 1:02.638| 2:03.321| O 1:01.974 2:01.500| O 2:01. 500
RL 5|9 QwsC 1:05.151| 2:07.086| O 1: 03. 426 2:03.767| O 2:03. 767
RL 6/10 GA 1:03.607| 2:04.966| O 1:04. 385 2:06.692| 1 2: 04. 966
RL 7|6 TEC 1:05.898| 2:11.623| O 1: 06. 500 2:12.017| O 2:11. 623
R2 1|21 SPEG D 1 0:57. 774 1:53.426| 0 1:53. 426
R2 2|19 SPEG D 0:58.567| 1:54.793| O 0: 58. 042 1:53.888| 0 1:53.888
R2 3|18 TEC 0 0: 58. 654 1:54.109| O 1:54.109
R2 4|20 P2 1:00.211| 1:56.830( O 0: 59. 015 1:54.118| O 1:54.118
R2 5|12 TEC 0:58.531| 1.55.757| O 0:58. 191 1:55.082| O 1:55. 082
R2 6|16 SPEG D 0:59.706| 2:03.699| O 0: 59. 333 1:55.464| O 1:55. 464
R2 (17 SPEG D 0:59.540( 1:59.341| O 0: 58. 662 1:55.609| O 1: 55. 609
R2 8(14 GA 0:59.697| 1.57.595| O 0: 58. 983 1.55.775| O 1:55. 775
R2 9|15 S\C 0:59.930f 1.57.752| O 1: 00. 085 1:58.866| 1 1:57.752
R2 10|13 P2 1:02.720| 2:02.398| O 0:59. 753 2:03.209| O 2:02. 398
R3 1|27 ETAQ LE 1:00.137( 1:57.272| O 0:59. 947 1:57.124| O 1:57.124
R3 2|31 QOKPI T55 0:59.502| 1:58.327| O 0: 59. 012 1:56.337| 1 1:58.327
R3 3|26 1:01.165| 2:06.033] O 1:00. 775 1:59.719| O 1:59.719
R3 4|29 SETCKAZE 1:01.555| 1:59.958| O 0: 59. 013 1:56.870| 1 1:59. 958
R3 5|30 S 1:01.023| 2:01.397 O 0 2:01. 397
R3 6|23 Q\RT 1:03.611| 2:14.108 O 1:02. 641 2:03.243| 0 2:03.243
R3 7(22 FL 0 1:04.351 2:06.356| 0 2:06. 356
R3 8|25 SPEG D 0 1:04.624 2:09.158| O 2:09.158
R3 9|24 OAL 1:12.455| 2:36.893| O 1:14.635 2:32.810| 1 2:36. 893

R3 28 S\C 0 0
1|32 TEC 0:54.666| 1:47.939| O 0: 53. 569 1:45.108| O 1:45.108
2|33 FL 0:53.808| 1:45.483 0: 54. 338 1:46.374| 2 1:45. 483
3|34 TEC 0:54.116f 1:45.758| O 0: 53. 596 1:45.495| 0 1:45. 495
Ns2 1|41 ETAQ LE 0:55.368| 1:48.823| O 0:53. 770 1:45.453| 0 1:45. 453
N2 2|37 TEC 0 0: 55. 408 1:48.415| 0 1:48.415
N2 3|35 ETQLE 0:57.391| 1:50.846| O 0:57. 824 1:51.241| 1 1: 50. 846
N2 4140 ETQLE 1:00.183| 1:56.007| O 0:57. 075 1:51.275| O 1:51. 275
N2 5|36 SPEG D 0:59.104| 1:52.510| O 0:55. 774 1:53.997| O 1:52.510
NS3 1143 RB 0:55.006 1:49.414| O 0: 53. 686 1:47.336| O 1:47.336
NS3 2|42 TEC 0:54.777| 1:49.414] O 0 1:49. 414
NS3 3|44 nonot ar o 0 0: 55. 909 1:55.252| O 1:55. 252
NS3 4|38 GA 0 0:57.191 2:08.120| O 2:08.120
NS3 5|39 S\C 0 1: 05. 745 2:11.814| O 2:11.814




